[Effici

ency vs vertpos |

~ 0.2

CTPTE SRR N S —
e . .F : : :
O AR AR

o
50.14

g ' s s
E 0.2 H --------- e

(o) = ERPPPPRPPTY FOPPPPPS o 3 RSP e
0.08 :
0.06

0.04
0.02

.................................................

Ratio

0.95

1.0

-

1072 107 1

10 0
TP vertr (cr%)

2

—=— DQM_TT _original

Efficienq —— DQM_TT_newscoreonlyINIT

~ 0.2

R s et R S S
o E : : : : :
20.16------ AR AR 1 P
> : : : : :

g C : : : : :
L s A A S
(8] » . . . .
£0.12-- A S prrenees
o : : : : :
0.0 R S R S 3 R
0.08f------ ' """" """" """
0.06f---- : } SR * AR
0.04 ' :

0.02F - 41
Vel

Ratio

0.95

[y

o
A

o3
=]

| : $

o

I

N

o

TP vert z (cm)

[Effic

iency vs.sim PV z |

~ 0.5
> : : : : : : :
O SRR R S AL ML SR S
£ : : : : : :
e e e s RS M MR
T T e iy o
9% 8 N S O S O
RS S0 N S W s
[} . . . . . .
0.2
EFYS S S N S
O R SIS I S
QO

iency

Ratio
=

0 =15 -10 -5 0 5 10 15 20

Sim. PV z (cm)

10 20 30




	Contents
	Page 1


